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Q.1
(a) 1. Explain following terms with example:
(a) Union of two sets
" (b) Subset
2. fU={0:1<x<9x¢€N},A={123},8 = {2,468} and
¢ = {6,789}, thenfind AUB,ANC,B~Cand A".
(b} 1, Find power set of set 4 = {1,2,3,4}.
2. Express the inequality in a Modulus form: -3 <x<5
Q1 _, OR '
(a) 1. IfA={1,3,5,7}, B={2,4, 6, 8}, and C={x: x < 10,x € N} then verify

Distributive laws.
2. Solve:|lx —3|=7

(b) " 1. Draw Venn diagram: (a) (AU B) (AN (B UC)
2. Express 0.5555 ...in a quotient form. .

Q.2
(a) 1. Explain following terms with example:
" (a) Transpose matrix
(b) Column matrix
2. Solve the equations by Cramer’s rule:
3x+y=5,
x+2y=8
(b) 3 1 1 =5 2 0
If={1 -3|,B=[3 1]andC=]|1 5|, Thenfind
4 1 4 2 3 -2
1.-54 2. A+2B 3.3B—-2C 4.A+B+¢C
Q.2 OR
IfA [1 0 ]andB [ 3 6],then

1. Find AB and BA.
2. Show that (4 + B)T = AT + BT.

(b  Solve following equations using inverse of a matrix:

X+y+z=3
2x+y+z=4
x+2y+3z=6
Q.3
(a 1. Show that the equation of the line passing through (x,,y,) with slope m

isy-y = mx-x).
2. Find g, if the distance between (a,—2)and(—4, 1) is 5.
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Find the equation of a line passes through the intersection of x-y + 2 = 0 and
2x + 3y — 6 = Oandit makes equal intercepts on the axes.
OR
1. Find the value of k:
(@) If 3kx + 4y + k = O passes through the point ( 1,3)
(b) If 4x - ky ~ 7 = 0 has the slope 2,

2. Find the equation of a line having slope 4 and passing through the
point (3,2).

Find the area and perimeter of triangle having the vertices:
A (15 -1),B (2: 5): C (73 2)'

Write working rules for limit.

Evaluate following:

1- X+ 2 - '\/_
x-—>1 x _1
3
2. lim x2 -8
x22 x“ —~ 4
OR
Evaluate following:
2
1. lim X !
x=1 x —1
- 85x+ 6.
2. lim 5
x—= 3 x°~0

3. lim(3x? +4x +9)
4. lim(1+ —)”
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5. lim
x=0 X
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